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1.

3 The time-series graph gives some information about the number of pairs of shoes sold in
a shoe shop in the first six months of 2014
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The sales target fior the first six months of 2004 was to sell a mean of ™ pairs of shoes
per month.

[id the shoe shop meet this sales target?
You must show how you get your answer,

{Total for Question 3 is 3 marks)
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*9 The table gives some information about smdent attendance at a schoal on Friday:

Number of students
Year Present Abszent Total
Year 7 192 16 208
Year 8 118 2 41
Year 9 2134 B 262
Year 10 133 8 261
Tear 11 114 4 238

The school has a target of 84% of smdents being present each day.
Did the school mest its target on Friday?

(Total for Question 9 is 3 marks)




